P1USUTTUIY
LEVELLING FOOT

@ O K-12

sffusedn K-1276-A/K-1277-A

76-A K-1277-A

NN FUAUAT NN FUAULAT

ansmziak  Feature

° mmﬁrmmmnau,mw,aﬁmumwwummwnﬂnmum

e suttananInryuls 30° Fortuduasduimdes §
mmimnmsmulwaﬂ’tmmwmﬂﬂ (K-1277-A)

° Luaﬂmﬂmuﬂwmmmmm’mLLau‘Wiauuwuim Fefiaw
nudonIiuEzianag NN

® Corrosion-resistant, stainless steel construction.

® The screw section can move through 30°, thus
maintaining the horizontal even on a sloping floor.
(K-1277-A)

®The wide, padded floor-contact area provides excellent
vibration-proofing.

‘ Joya o 59 UNW: UWTNWANTUANLAT (SUS304)
‘ T FIUAUAT: WHIMANFUAULAN (SUS304)
i wHuIB9/819891AT1ZR (NBR)
! ° mﬁﬂmiﬁ'mﬁw:l In58y
( | ) oamwm‘immﬁauﬁﬁ -10 &9 +60°C
i oaﬂﬂimmmum fansuile
i 9 n3lg9n oLﬂiawﬂiwammsmmm/aﬂﬂimmiawaLLW‘V]EJ/
‘ - wiaesausialany
i fnuads o fudnhudn..njandndedeuniniisinnuads
i HEa HE
! Specifi- @ Material: Shaft: Stainless steel rod (SUS304)
‘ cations Foot: Stainle§s steel plate (SUS304)
K-1276-A-20-200 K-1276-A-16-150 : . Pad: Synthetic rubber (NBR)
1 - o Finish: Barrel polishing
[(LT1] — ® Ambient temperature: -10C to +60°C
T\ o ® Accessories: Nut
i N Specific-  ® Semi-conductor equipment, medical
wHwsne (NBR) ® ‘80 use equipment, machine tools
Pad
e iaudn Rons| [ dhviinfiunstih N/4 3w | anondniod (o) | v
1°" cap b | L Ls M Recommend load Mass Code
K-1276-A-16-150 301183 1150| 10 | M16X2.0 11,760 440 31533
K-1276-A-16-200 /3012331200| 10 | M16X2.0 11,760 505 31534
K-1276-A-20-150 3D 186|150 13 | M20X2.5 14,700 615 31535
K-1276-A-20-200 301 236|200| 13 | M20X2.5 14,700 720 31536
o Nﬁﬂﬁmﬁﬁlﬁﬁumﬁusaﬂmummﬁm ROHS10 A @ §1H1INTUTBIATNNIATFIU ROHS 10
M faeenald o
1 Example of application
(1 s L5 )

wH®Ind (NBR)
Pad

K-1277-A-20-100 K-1277-A-16-130

///
il
/

/ | %

///y

L1

o=

o=

25 |L3

s, e I e oo o o)
K-1277-A-16-100 /301 1351100| 10 |M16X2.0 11,760 380 31541
K-1277-A-16-130 3011651130 10 |M16X2.0 11,760 425 31542
K-1277-A-16-180 /3012151180| 10 |[M16X2.0 11,760 490 31543
K-1277-A-20-100 301138 1100| 13 |M20X2.5 14,700 515 31544
K-1277-A-20-130 3011681130 13 |M20X2.5 14,700 580 31546
K-1277-A-20-180 301218 1180| 13 |M20X2.5 14,700 685 31545

@ : WAAAUTAIRTUNNITTUIBININNIATFIU ROHS 10 A §1H1I0TUIBIAINNIATFIU ROHS 10

USuszau

P |
BRINENY

3
5191R0%

—

K

Qnde
R B

GGG
o
anded

fandansiaiy

LNINN

gndouuudl
seuuliy

fovizg

9
LRI
anuea

nofinod
075

[ 53T]
e
2R

foauiln
ey

Tula

LEVEL ADJUSTERS

Eatlaiins

TAKIGEN

wawdi 24

1559





